Divide by 10" (F)

Find each quotient.

2.58 - 10! = 54 = 10! =
7.22 +-10' = 54 ~101=
8.3409 =~ 10 = 7.7 =101 =
6.8+~ 10! = 45922 - 101 =
1.8 =10 = 2.4039 = 10! =
2.25 =10 = 9214 + 10 =
0.84 -~ 10' = 0.8 =10 =
9.894 = 10! = 7.016 ~ 101 =
6.4+ 10 = 2.8245 +~ 10 =
2.0769 ~ 101 = 77 =101 =
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Divide by 10* (F) Answers

2.58 + 10" =0.258

7.22 +10'=0.722

8.3409 = 10" = 0.83409

6.8 +~10'=0.68

1.8+ 10'=0.18

2.25 +10'=0.225

0.84 =~ 10" = 0.084

9.894 + 10' = 0.9894

6.4 + 10" =0.64

2.0769 + 10 =0.20769

Find each quotient.

54 +10'=0.54

5.4 +10'=0.54

7.7 +10*=0.77

45922 + 10 = 0.45922

2.4039 + 10 =0.24039

9.214 + 10' = 0.9214

0.8 + 10" =0.08

7.016 + 10* = 0.7016

2.8245 + 10' = 0.28245

7.7 +10'=0.77
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